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Key learning

« Children in Class 6 were asked how they travel to school.

The results of the survey are shown in the pie chart.

bicycle
walk

car

bus

What fraction of children do not get the bus to school?

« Dr Fisher has 7 of a tank of petrol i his car.
He drives to see his friend and uses ‘gom tank of petrol.

What fraction of a tank of petrol is left in the tank?

= Afamily buys two equal-sized boxes of cereal.
In one week, they eat %nf box Aand % of box B.
How many boxes of cereal do they eat that week?

How many boxes of cereal will they need for three weeks?

« Hereis avegetable patch.
T of the potch i for carrots
and 2 of the patch isfor cabbages.

What fraction of the patch is
for potatoes?

How much more of the patch is for
the potatoes than for the cabbages?

Give all your answers i their simplest form.

« Whatis the value of A

1
w1l
14

(Y

« Whitney has 5 bags of

i

ns.
On Monday, she eats % of a bag and gives % of a bag away.
On Tuesdoy, she eats 15 bags and gives 2 of a bag away.

How many bags of raisins does Whitney hove left?
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Annie and Mo are going on a trip. @

My stitcase has
o mass of 293 kg

My suitcose
is 2% kg lighter
than Annie's

What s the total mass of the suitcases?

There is a weight allowance of 32 kg
per suitcase.

How much below the weight allowance
are Annie and Mo's suitcases?
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Find thevulueel* @

Complete the calculation.

How can you make this @

calculation simpler?
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Key questions

What can you work out first?
What do you need to know to work out the answer?
Can you draw a diagram to represent the problem?

Can you work out the answer to this part of the problem
mentally or do you need another method?

What can you do next?

Possible sentence stems

First, I need to work out ...
The calculotion Ineed to o ...

Next, I need to work out





